Item 19



Travis County Commissioners Court Agenda Request

Meeting Date: July 30, 2013

Prepared By/Phone Number: Rachel Fishback, 512.854.9853

Elected/Appointed Official/Dept. Head: Cyd Grimes

Commissioners Court Sponsor: Judge Biscoe

Agenda Language: APPROVE CONTRACT AWARD FOR ON-SITE SECURITY GUARD SERVICES, IFB NO. 1305-14-NB, TO THE LOW BIDDER, TEXAS STAR US INC, D/B/A TEXAS STAR SECURITY.

➤ Purchasing Recommendation and Comments: Purchasing concurs with department and recommends approval of requested action. This procurement action meets the compliance requirements as outlined by the statutes.

This contract requires for the vendor to provide On-Site Security Guard Services to Travis County Domestic Relations, Counseling and Education Services, Adult Probation, Juvenile Probation and other Travis County Departments.

On May 31st, 2013, IFB No. 1305-14-NB was issued through BidSync. Eight (8) bids were received on June 24th, 2013. The Purchasing Office concurs with Travis County Juvenile Probation, Domestic Relations and Travis County Drug Diversion Court recommendations to award a contract to the low bidder Texas Star US, Inc., d/b/a Texas Star Security.

Contract-Related Information:

Award Amount: estimated requirement

Contract Type: Term

Contract Period: September 14, 2013 through September 13, 2014

> Solicitation-Related Information:

Solicitations Viewed: 45 Responses Received: 8

HUB Information: N/A % HUB Subcontractor: N/A

AGENDA REQUEST DEADLINE: All agenda requests and supporting materials must be submitted as a pdf to agenda@co.travis.tx.us by Tuesdays at 5:00 p.m. for the next week's meeting.

>	\boxtimes SAP	Informat Shopping ments:	ion: Cart #/Fur	nds Reser	vation #: N	NΑ	



TRAVIS COUNTY JUVENILE PROBATION DEPARTMENT

2515 South Congress Avenue ~ Austin Texas 78704 Phone: (512)854-7000 Fax: (512)854-7097

ESTELA P. MEDINA Chief Juvenile Probation Officer

TO:

Cyd Grimes

Purchasing Agent

FROM:

Estela P. Medina

Chief Juvenile Probation Officer

RE:

On-Site Security Guard Services Bid proposal

DATE:

June, 25,2013

Travis County Juvenile Probation has reviewed the bids for on-site security and recommends Texas Star 1 USA to provide the on-site services for Garner Betts and DRO. The vendor submitted the requirements of the bid proposal (which include the required work schedule) at the lowest bid price of \$12.75 an hour. Please move forward requesting Commissioner Court's approval.

Funding information for these services is as follows:

Vendor Number #

Cost Center # 1450110001-Garner Betts Facilities

1450440001- DRO

GL#: 511940 - Security Services

Hours are as follows:

DRO needs a guard Monday through Friday, 8 am-12 pm, 1 pm-5 pm. Security is not needed for after hours or weekends.

Garner Betts needs a guard Monday through Thursday 10:30 am - 7:30 pm and 8 am-5 pm on Fridays. (1 hour lunch).

Cameron Road no guard is needed.

If you need additional information in order to proceed, please do not hesitate to call me.

cc:

Britt Canary Scot Doyal Sylvia Mendoza Mary Nieves

cents	
Agency Notes:	



7	B1305-14-NB01-02 Gardner-Betts Juv	ment							
7	Supplier			nit Price	Qty/Unit	Total Price	Attch.	Docs	
	Texas Star 1 USA		First Offer -	\$12.75	2080 / hour	\$26,520.00	Y	Y	
Unit Amount Text: Twelve Dollars and seventy five cents Total Amount Text: Twenty six thousand five hundred and twenty dollars Agency Notes:					Supplier Product Code: Supplier Notes: Hourly Rate: 12.75 Drug Screens are done on all commission officers twice a year per protocol for Texas Star Security. All backgrounds are checked prior to hiring process				
	Marshal Security Office	~	First Offer -	\$13.40	and again through 2080 / hour	\$27,872.00	rprints.	Y	
Product Code:				Supplier Product Supplier Notes: I	Code:				
	ALL PRO SECURITY SERVICES		First Offer -	\$13.75	2080 / hour	\$28,600.00		Υ	
Product Code:					Supplier Product Supplier Notes: I	Code:	5		
4	Ameritex Guard Services		First Offer -	\$13.90	2080 / hour	\$28,912.00		Υ	
Unit Amount Text: thirteen dollars ninety cents Total Amount Text: twenty eight thousand nine hundred twelve dollars no cents Agency Notes:				Supplier Product Supplier Notes: F	lourly Rate: 13,9	0			
	PRO SECURITY GROUP INC [Ad]		First Offer -	\$14.38	2080 / hour	\$29,910.40		Υ	
	Product Code: Jnit Amount Text: per hour Fotal Amount Text: annual Agency Notes:				Supplier Product Supplier Notes: F	Code: lourly Rate: 14.3	8		
	Dennis Security and Professional Services, LLC		First Offer -	\$14.40	2080 / hour	\$29,952.00		Υ	
7 0 4	Product Code: Jnit Amount Text: forteen dollars and forty or Total Amount Text: Twenty nine thousand nin Iollars Agency Notes:	en ne	ts hundred fifty	two	Supplier Product Supplier Notes: H	Code: lourly Rate: 14.4	0		
-	Arrow Security		First Offer -	\$14.73	2080 / hour	\$30,638.40		Υ	
Product Code:				Supplier Product Code: Supplier Notes: Hourly Rate: 14.73					
_	Inited Protective Services		First Offer -	\$17.73	2080 / hour	\$36,878.40	T	Υ	
Product Code:			Supplier Product Supplier Notes: H	Code:	3				



B1305-14-NB01-03 Domestic Relations Office								
Supplier	Qty/Unit	Total Price	Attch.	Docs				
Texas Star 1 USA	First Offer - \$12.75	2700 / hour	\$34,425.00	Υ	Υ			
Product Code:	Supplier Product Code:							
Unit Amount Text: Twelve Dollars and sever	Unit Amount Text: Twelve Dollars and seventy five cents							
					cers			
five dollars	twice a year per protocol for Texas Star Security. Al							
Agency Notes:	backgrounds are checked prior to hiring process							

				and again through	DPS and FBI fingerprint	te	
Marshal Security Office		First Offer -	\$13.40	2700 / hour	\$36,180.00	Υ Υ	
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:	Supplier Product Code: Supplier Notes: Hourly Rate:						
ALL PRO SECURITY SERVICES		First Offer -	\$13.75	2700 / hour	\$37,125.00	Y	
Product Code: Unit Amount Text: thirteen dollars and sever Total Amount Text: thirty seven thousand or dollars Agency Notes:	Supplier Product Code: Supplier Notes: Hourly Rate: 13.75						
Ameritex Guard Services		First Offer -	\$13.90	2700 / hour	\$37,530.00	Υ	
Product Code: Unit Amount Text: thirteen dollars ninety cer Total Amount Text: thirty seven thousand fiv no cents Agency Notes:	Supplier Product Supplier Notes: I	: Code: Hourly Rate: 13.90					
PRO SECURITY GROUP INC [Ad]		First Offer -	\$14.38	2700 / hour	\$38,826.00	Υ	
				Supplier Product Code: Supplier Notes: Hourly Rate: 14.38			
Dennis Security and Professional Services, LLC		First Offer -	\$14.40	2700 / hour	\$38,880.00	Υ	
Product Code: Unit Amount Text: forteen dollars and forty of Total Amount Text: Thirty eight thousand eigidollars Agency Notes:	ent ht l	s hundred and	eighty	Supplier Product Supplier Notes: I	Code: Hourly Rate: 14.40		
Arrow Security_		First Offer -	\$14.73	2700 / hour	\$39,771.00	Υ	
Product Code: Unit Amount Text: Fourteen dollars and sever Total Amount Text: Thirty nine thousand sever dollars and no cents Agency Notes:	Supplier Product Supplier Notes: F	Code: Hourly Rate: 14.73					
United Protective Services		First Offer -	\$17.73	2700 / hour	\$47,871.00	Y	
Product Code:				Supplier Product Supplier Notes: F			

Supplier		Un	it Price	Qty/I	Unit	Total Price	Attch.	Docs
Texas Star 1 USA		First Offer -	\$12.75	1560	/ hour	\$19,890.00	Υ	Υ
Total Amount Text: Twelve Dollars and seventy five cents Total Amount Text: nineteen thousand eight hundred and ninety dollars Agency Notes:				Supplier Product Code: Supplier Notes: Hourly Rate: 12.75 Drug Screens are done on all commission officers twice a year per protocol for Texas Star Security. All backgrounds are checked prior to hiring process and again through DPS and FBI fingerprints.				
Marshal Security Office		First Offer -	\$13.40		/ hour	\$20,904.00		Υ
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:					er Product er Notes: I	Code: lourly Rate:		
ALL PRO SECURITY SERVICES		First Offer -	\$13.75	1560	/ hour	\$21,450.00		Y
			Supplier Product Code: Supplier Notes: Hourly Rate: 13.75					

01 0010 0 00 10 D11 00T

Agency Notes:			1		
Ameritex Guard Services		First Offer - \$13.90) 1560 / hour	\$21,684.00	Υ
Product Code: Unit Amount Text: thirteen dollars ninety ce Total Amount Text: twenty one thousand six dollars no cents Agency Notes:	Supplier Product Code: Supplier Notes: Hourly Rate: 13.90				
PRO SECURITY GROUP INC [Ad]	T	First Offer - \$14.38	3 1560 / hour	\$22,432.80	Y
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:	Supplier Produc Supplier Notes:				
Dennis Security and Professional Services, LLC	1	First Offer - \$14.40	1560 / hour	\$22,464.00	Y
Unit Amount Text: forteen dollars and forty Total Amount Text: Twenty two thousand fo dollars Agency Notes:	cer ur	ts hundred sixty four	Supplier Produc Supplier Notes:	Hourly Rate: 14.40	
Arrow Security		First Offer - \$14.73	1560 / hour	\$22,978.80	Y
Product Code: Unit Amount Text: Fourteen dollars and seve Total Amount Text: Twenty two thousand ni dollars and eighty cents Agency Notes:	ent ne	y three cents hundred seventy eigh	Supplier Produc Supplier Notes:	t Code: Hourly Rate: 14.73	
United Protective Services	Π	First Offer - \$17.73	1560 / hour	\$27,658.80	Y
Product Code: Unit Amount Text: seventeen Dollars and Se Total Amount Text: Twenty Seven Thousand eight dollars and eighty cents Agency Notes:	Supplier Product Supplier Notes:				

B1305-14-NB01-05 Pre-Trial Services (Drug Diversion Court), 4011 McKinney Falls Pkwy								
Supplier	Unit Price		Total Price	Attch.	Docs			
Texas Star 1 USA	First Offer - \$12.75	988 / hour	\$12,597.00	Υ	Y			
Product Code: Unit Amount Text: Twelve dollars and sevent Total Amount Text: Twelve thousand five hu dollars Agency Notes: Marshal Security Office Product Code: Unit Amount Text:	Supplier Product Code: Supplier Notes: Hourly Rate: 12.75 Drug Screens are done on all commission officers twice a year per protocol for Texas Star Security. A backgrounds are checked prior to hiring process and again through DPS and FBI fingerprints. 988 / hour \$13,239.20 Y Supplier Product Code: Supplier Notes: Hourly Rate:							
Total Amount Text: Agency Notes: ALL PRO SECURITY SERVICES	First Offer - \$13.75	988 / hour	\$13,585.00		Y			
Product Code: Unit Amount Text: thirteen dollars and seven Total Amount Text: thirteen thousand five hu Agency Notes:	ty five cents indred eight five dollars	Supplier Product Code: Supplier Notes: Hourly Rate: 13.75						
Ameritex Guard Services	First Offer - \$13.90	988 / hour	\$13,733.20	1	Y			
Product Code: Unit Amount Text: thirteen dollars ninety cen Total Amount Text: thirteen thousand seven dollars twenty cents Agency Notes:	Supplier Product Supplier Notes: I	Code:	0					
PRO SECURITY GROUP INC [Ad]	First Offer - \$14.38	988 / hour	\$14,207.44		Υ			
Product Code: Unit Amount Text: per hour Total Amount Text: annual		Supplier Product Supplier Notes: I	Code:	8				

Agency Notes:			1		
Dennis Security and Professional Services, LLC	First Offer -	\$14.40	988 / hour	\$14,227.20	V
Product Code: Unit Amount Text: fourteen dollars and forty Total Amount Text: Fourteen thousand two h dollars and twenty cents Agency Notes:	Supplier Product Code: Supplier Notes: Hourly Rate: 14.40				
Arrow Security	First Offer -	\$14.73	988 / hour	\$14,553.24	Y
Product Code: Unit Amount Text: Fourteen dollars and sever Total Amount Text: Fourteen thousand five he and twenty four cents Agency Notes:	Supplier Product Code:				
United Protective Services	First Offer -	\$17.73	988 / hour	\$17,517.24	Y
Product Code:			Supplier Product		- I

Supplier	U	nit Price	Qty/Unit	Total Price	Attch.	Doc
Texas Star 1 USA	First Offer -		1092 / hour	\$13,923.00	Y	Y
Product Code:		444.70	Supplier Product			
Unit Amount Text: Twelve dollars and sevent Total Amount Text: Thirteen thousand nine hathree dollars Agency Notes:	y five cents nundred and two	enty		Hourly Rate: 12.7	5	
Marshal Security Office	First Offer -	\$13.40	1092 / hour	\$14,632.80		Υ
Product Code: Unit Amount Text; Total Amount Text; Agency Notes:			Supplier Product Supplier Notes:	t Code: Hourly Rate:	<u> </u>	
ALL PRO SECURITY SERVICES	First Offer -	\$13.75	1092 / hour	\$15,015.00		Y
Product Code: Unit Amount Text: thirteen dollars and seven Total Amount Text: fifteen thousand fifteen d Agency Notes:	Supplier Product Code: Supplier Notes: Hourly Rate: 13.75					
Ameritex Guard Services	First Offer -	\$13.90	1092 / hour	\$15,178.80		Y
Product Code: Unit Amount Text: thirteen dollars ninety cen Total Amount Text: fifteen thousand one hun dollars eighty cents Agency Notes:	ts dred seventy ei	ight	Supplier Product Supplier Notes: I	i Code: Hourly Rate: 13.90	D	
PRO SECURITY GROUP INC [Ad]	First Offer -	\$14.38	1092 / hour	\$15,702.96	İ	Y
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:			Supplier Product Supplier Notes: I		3	-
Dennis Security and Professional Services, LLC	First Offer -	\$14.40	1092 / hour	\$15,724.80		Y
Product Code:			Supplier Product Supplier Notes: I	: Code: Hourly Rate: 14.40)	
Arrow Security	First Offer -	\$14.73	1092 / hour	\$16,085.16		Y
Product Code: Unit Amount Text: Fourteen dollars and sever Fotal Amount Text: Sixteen thousand eighty frents	ity three cents		Supplier Product		3	

Agency Notes:	-		1
<u>United Protective Services</u> First Offer - \$17.73	1092 / hour	\$19,361.16	Υ
Product Code: Unit Amount Text: seventeen Dollars and Seventy Three Cents Total Amount Text: nineteen thousand three hundred sixty one dollars and sixteen cents Agency Notes:	Supplier Product Supplier Notes: H		

B1305-14-NB01-07 Travis County Exp	o C	enter					
Supplier			nit Price	Qty/Unit	Total Price	Attch.	Docs
Texas Star 1 USA		First Offer -	\$12.75	3640 / hour	\$46,410.00	Y	Y
Product Code: Unit Amount Text: Twelve dollars and sevent Total Amount Text: Forty six thousand four h Agency Notes:	Supplier Product Code: Supplier Notes: Hourly Rate: 12.75						
Marshal Security Office	M	First Offer -	\$13.40	3640 / hour	\$48,776.00		Υ
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:	Supplier Product Supplier Notes: I	Code: lourly Rate:	<u> </u>				
ALL PRO SECURITY SERVICES Product Code:		First Offer -	\$13.75	3640 / hour	\$50,050.00		Υ
Unit Amount Text: thirteen dollars and seven Total Amount Text: fifty thousand fifty dollars Agency Notes:	Supplier Product Supplier Notes: F	Code: lourly Rate: 13.7	5				
Ameritex Guard Services		First Offer -	\$13.90	3640 / hour	\$50,596.00		Y
Product Code: Unit Amount Text: thirteen dollars ninety cen Total Amount Text: fifty thousand five hundre cents Agency Notes:	Supplier Product Supplier Notes: H	Code: lourly Rate: 13.9	0				
PRO SECURITY GROUP INC [Ad]		First Offer -	\$14.38	3640 / hour	\$52,343.20		Υ
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:				Supplier Product Supplier Notes: H	Code: lourly Rate: 14.3	3	
Dennis Security and Professional Services, LLC		First Offer -	\$14.40	3640 / hour	\$52,416.00		Y
Product Code: Unit Amount Text: Fourteen dollars and forty Total Amount Text: Fifty two thousand four h Agency Notes:	und	red sixteen (dollars	Supplier Product Supplier Notes: H	Code: lourly Rate: 14.40)	
Arrow Security	!	First Offer -	\$14.73	3640 / hour	\$53,617.20		Y
Product Code: Unit Amount Text: Fourteen dollars and sever Total Amount Text: Fifty three thousand six h dollars and twenty cents Agency Notes:	Supplier Product Supplier Notes: H	Code: Jourly Rate: 14.73	3				
United Protective Services	F	First Offer -	\$17.73	3640 / hour	\$64,537.20		Υ
Product Code:				Supplier Product Supplier Notes: H	Code:	3	

Supplier	r Unit Price		Total Price	Attch.	Docs
ALL PRO SECURITY SERVICES	First Offer - \$13.75	1 / hour	\$13.75		V
Product Code: Unit Amount Text: thirteen dollars and		Supplier Produc Supplier Notes:	The second secon	5	

Total Amount Text: thirteen dollars and sever Agency Notes:	ity five cents						
Marshal Security Office	First Offer -	\$17.54	1 / hour	\$17.54		Y	
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:			Supplier Product Code: Supplier Notes: Hourly Rate:				
Texas Star 1 USA	First Offer -	\$19.13	1 / hour	\$19.13	Y	Y	
Product Code:			Supplier Product Supplier Notes: I				
Ameritex Guard Services	First Offer -	\$20.85	1 / hour	\$20.85		Y	
Product Code:			Supplier Product Code: Supplier Notes: Hourly Rate: 20.85				
PRO SECURITY GROUP INC [Ad]	First Offer -	\$21.57	1 / hour	\$21.57		Υ	
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:			Supplier Product Supplier Notes: I	Code: fourly Rate: 21.57			
Dennis Security and Professional Services, LLC	First Offer -	\$21.60	1 / hour	\$21.60		Y	
Product Code: Unit Amount Text: Twenty one dollars and sixt Total Amount Text: Twenty one dollars and six Agency Notes:	cy cents cty cents		Supplier Product Supplier Notes: I	Code: fourly Rate: 21.60			
Arrow Security	First Offer -	\$22.10	1 / hour	\$22,10		Y	
Product Code:			Supplier Product Code: Supplier Notes: Hourly Rate: 22.10				
United Protective Services	First Offer -	\$26.60	1 / hour	\$26.60	1	Υ	
Product Code:			Supplier Product				

B1305-14-NB02-01 On-Site Un-armed Supplier	Unit Price		Total Price	Attch.	Doc
Ameritex Guard Services	First Offer - \$11.22	2080 / hour	\$23,337.60		Y
Product Code: Unit Amount Text: eleven dollars twenty two Total Amount Text: twenty three thousand t seven dollars sixty cents Agency Notes:	sents hree hundred thirty	Supplier Product	t Code: Hourly Rate: 11.2	2	
Texas Star 1 USA	First Offer - \$12.14	2080 / hour	\$25,251.20	Υ	Υ
Product Code:					
Unit Amount Text: Twelve dollars and fourte Total Amount Text: Twenty five thousand tw dollars and twenty cents	en cents	Supplier Product		4	
Unit Amount Text: Twelve dollars and fourte Total Amount Text: Twenty five thousand tw dollars and twenty cents Agency Notes: Arrow Security	en cents	Supplier Product	t Code:	4	Y
Unit Amount Text: Twelve dollars and fourte Total Amount Text: Twenty five thousand tw dollars and twenty cents Agency Notes:	en cents to hundred fifty one First Offer - \$12.31	Supplier Product Supplier Notes: 2080 / hour Supplier Product	t Code: Hourly Rate: 12.1 \$25,604.80		Υ

Product Code:			Supplier Produc	t Code:	
Unit Amount Text:			Supplier Notes: Hourly Rate:		
Total Amount Text:				,	
Agency Notes:					
Dennis Security and Professional Services, LLC	First Offer -	\$13.40	2080 / hour	\$27,872.00	Y
Product Code:			Supplier Produc		
Unit Amount Text: Thirteen dollars and forty of	ents		Supplier Notes:	Hourly Rate: 13.40	
Total Amount Text: Twenty seven thousand e	ight hundred a	nd		100019 10000 15. 10	
seventy two dollars	-		1		
Agency Notes:					
ALL PRO SECURITY SERVICES	First Offer -	\$13.75	2080 / hour	\$28,600.00	Y
Product Code:			Supplier Produc		
Unit Amount Text: thirteen dollars and sevent	y five cents			Hourly Rate: 13.75	
Total Amount Text: twenty eight thousand six	hundred			,	
Agency Notes:					
PRO SECURITY GROUP INC [Ad]	First Offer -	\$13.88	2080 / hour	\$28,870.40	Y
Product Code:			Supplier Product		
Unit Amount Text: per hour				Hourly Rate: 13.88	
Total Amount Text: annual			''	, , , , , , , , , , , , , , , , , , , ,	
Agency Notes:	First Offer -	\$15.39	2080 / hour	\$32.011.20	Y
Agency Notes: United Protective Services Product Code:		\$15.39	2080 / hour	\$32,011.20	Υ
Agency Notes: United Protective Services Product Code: Unit Amount Text: Fifteen dollars and thirty ni	ne cents		Supplier Product	Code:	Y
Agency Notes: United Protective Services Product Code: Unit Amount Text: Fifteen dollars and thirty ni	ne cents		Supplier Product		Y
Agency Notes: United Protective Services Product Code: Unit Amount Text: Fifteen dollars and thirty nited Amount Text: thirty two thousand elever cents Agency Notes:	ne cents		Supplier Product	Code:	Υ

B1305-14-NB02-02 On-Site Un-armed	Security Guar	rd Servic	es: : Overtime C	harges		
Supplier	U	nit Price	Qty/Unit	Total Price	Attch.	Docs
ALL PRO SECURITY SERVICES	First Offer -	\$13.75	1 / hour	\$13.75		Υ
Product Code: Unit Amount Text: thirteen dollars and sever Total Amount Text: thirteen dollars and sever Agency Notes:	Supplier Product Code: Supplier Notes: Hourly Rate: 13.75					
Marshal Security Office	First Offer -	\$16.75	1 / hour	\$16.75		Y
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:	<u> </u>	•	Supplier Produc Supplier Notes:			
Ameritex Guard Services	First Offer -	\$16.83	1 / hour	\$16.83		Y
Product Code: Unit Amount Text: sixteen dollars eighty thre Total Amount Text: sixteen dollars eighty thr Agency Notes:	ee cents ree cents		Supplier Produc Supplier Notes:	ct Code: Hourly Rate: 16.8	3	
Texas Star 1 USA	First Offer -	\$18.21	1 / hour	\$18.21	Υ	Υ
Product Code: Unit Amount Text: Eighteen dollars and twen Total Amount Text: Eighteen dollars and twe Agency Notes:	ity one cents nty one cents		Supplier Produc Supplier Notes:	t Code: Hourly Rate: 18.2	1	
Arrow Security	First Offer -	\$18.47	1 / hour	\$18.47		Y
Product Code: Unit Amount Text: Eighteen dollars and forty Total Amount Text: Eighteen dollars and fort Agency Notes:	seven cents y seven cents		Supplier Product Code: Supplier Notes: Hourly Rate: 18.47			
Dennis Security and Professional Services, LLC	First Offer -	\$20.10	1 / hour	\$20.10		Υ
Product Code:			Supplier Product Code: Supplier Notes: Hourly Rate: 20.10			
PRO SECURITY GROUP INC [Ad]	First Offer -	\$21.57	1 / hour	\$21.57		Υ
	1	,	/	451.37		

Total Amount Text: per hour Total Amount Text: annual Agency Notes:		Supplier Product Supplier Notes: H	Code: lourly Rate: 21.57	
United Protective Services	First Offer - \$23.09	1 / hour	\$23.09	Y
Product Code: Unit Amount Text: twenty three dollars and nin Total Amount Text: twenty three dollars and nin Agency Notes:	e cents	Supplier Product Supplier Notes: F	Code: lourly Rate: 23.09	

Supplier Totals Texas Star 1 USA \$187,009.54 (10/10 items) Bid Contact **Kay Cole** Address 2221 W. Arkansas #105 texas.star.dfw@gmail.com Pantego, TX 76013 Ph 817-710-0305 Fax 817-548-0171 Qualifications CISV TX **Bid Notes** No suncontracting will be used by TX STAR US, INC dba: Texas Star Security due to our company as whole has a macehanic shop, a uniform shop, and alarm division and a traing academy. **Agency Notes:** Supplier Notes: No suncontracting will be used by TX STAR US, INC dba: Texas Star Security due to our company as whole has a macehanic shop, a uniform shop, and alarm division and a traing academy. **Marshal Security Office** \$197,622.29 (10/10 items) Bid Contact Akpaka Prince Address P.O. Box 1586 admin@marshalso.com Leander, TX 78641 Ph 512-528-1088 Bid Notes Paper bid submitted **Agency Notes: Supplier Notes:** Paper bid submitted **Ameritex Guard Services** \$199,682.88 (10/10 items) Bid Contact Roxanne Hockenberry Address 100 N Central Expy roxannehockenberry@ameritexgs.com **Suite 350** Ph 972-231-6395 Richardson, TX 75080 Qualifications DBE HUB MBE NCTRCA TX WBE **Agency Notes: Supplier Notes: ALL PRO SECURITY SERVICES** \$203,032.50 (10/10 items) Bid Contact martin jeakle Address 17356 W. 12 Mile info@allprosecurityservices.com Southfield, MI 48076 Ph 866-493-6035 Agency Notes: **Supplier Notes: Dennis Security and Professional Services, LLC** (10/10 items) \$210,563.30 Bid Contact **Anthony Dennis** Address 2101 South IH 35, Suite 203 adennis@dsaps.net Austin, TX 78741 Ph 512-916-4100 Fax 512-916-4102 Qualifications HUB **Agency Notes:** Supplier Notes: PRO SECURITY GROUP INC [Ad] \$211,309.46 (10/10 items)**Bid Contact** DENISE NICHOLSON Address 100 N 6th 317 denise@prosecuritygroup.com WACO, TX 76701 Ph 254-753-7766

Qualifications HUB SB TX WBE

(10/10 items)

Agency Notes:

Bid Contact

Supplier Notes:

Arrow Security

Lee Cox

lcox@arrowsecurity.net

Ph 254-307-8838

Address 520 E. Yeagua

Groesbeck, TX 76642

Qualifications TX

Bid Notes

If the bid is awarded to Arrow Security, A Supervisor will be provided at no charge to the client. This supervisor will work 20 hours during the week roving from location to location, during both days and nights, ensuring the policies and procedures of the client are being enforced. This

supervisor position will be in addition to the contract manager assigned for this contract.

Agency Notes:

Supplier Notes:

If the bid is awarded to Arrow Security, A Supervisor will be provided at no charge to the client. This supervisor will work 20 hours during the week roving from location to location, during both days and nights, ensuring the policies and procedures of the client are being enforced. This supervisor position will be in addition to the contract

\$212,480.69

manager assigned for this contract.

Austin, TX 78759

United Protective Services

\$256,948.21 (10/10 items) Address 4408 Spicewood Springs Road

Bid Contact Phillip Adams

phillip.adams@united-protective.com

Ph 512-808-5745

Supplier Notes:

Agency Notes:

21 2210 2 27 15 DEL 207



Travis County Drug Diversion Court

a division of Pretrial Services & Adult Probation Department
PO Box 1748 Austin, TX 78767
2201 Post Road So. Bldg. Austin, TX 78704
512-854-4646 & 512-854-4200
512-854-4643 Fax

Rosie Ramón-Durán, Interim Director Sharon Caldwell-Hernandez, Program Administrator

TO: Cyd V. Grimes, C.P.M., CPPO

Travis County Purchasing Agent

FROM: Sharon Caldwell-Hernandez

Social Services Program Administrator

Pretrial Services

DATE: July 1, 2013

SUBJECT: Recommendation Bid, B1305-14-NB-01-05, On-Site Security Guard Services

Travis County Drug Diversion Court reviewed all documents regarding Solicitation No. B1305-14-NB for On-Site Security Guard Services. Based upon the instructions provided by the Travis County Purchasing Representative, a full review of all Bids has been completed. Based upon the information that was received, Travis County Drug Court is recommending Texas Star 1 USA.

cc: Rosie Ramon-Duran Irma Guerrero Larry Spacek

Bid Tabulation Packet for Solicitation B1305-14-NB

ON SITE SECURITY GUARD SERVICES

Bid designation: Public



Travis County

Bid #B1305-14-NB - ON SITE SECURITY GUARD SERVICES

Start Date May 31, 2013 3:37:15 PM CDT Awarded Date Not Yet Awarded

B1305-14-NB01-01 Counseling and Ed	lucation Servic	es				
Supplier	Uı	nit Price	Qty/Unit	Total Price	Attch.	Docs
Texas Star 1 USA	First Offer -	\$12.75	624 / hour	\$7,956.00	Υ	Υ
Product Code: Unit Amount Text: Twelve Dollars and seventy five cents Total Amount Text: seven thousand nine hundred and fifty six Agency Notes:			I have provided Lic Department of Pub for this post. I hav certificate and licer commission emplo that the award is g have the definite s employees to suit non-commissioned through DPS and r	Code: Hourly Rate: 12.7 cense of Certifiacte blic Safety with the e also attached a cense. I am sending s yee certificates unt given. I will then sit taff assignment and your needs. All sect I and commissioned ecieve all training f ademy, which is als	from attachm ommissi some of il I am p down a d all qua urity offi d are lice from our	ion my positive nd allified cers; ensed
Marshal Security Office	First Offer -	\$13.40	624 / hour	\$8,361.60		Υ
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:) 		Supplier Product Supplier Notes: I			
ALL PRO SECURITY SERVICES	First Offer -	\$13.75	624 / hour	\$8,580.00		Υ
Product Code: Unit Amount Text: thirteen dollars and sever Total Amount Text: eight thousand five hunc Agency Notes:	lred eighty dolla			Hourly Rate: 13.7	5	
Ameritex Guard Services	First Offer -	\$13.90	624 / hour	\$8,673.60		Υ
Product Code: Unit Amount Text: thirteen dollars ninety cer Total Amount Text: eight thousand six hundr sixty cents Agency Notes:	red seventy thre			Hourly Rate: 13.9	0	
PRO SECURITY GROUP INC [Ad]	First Offer -	\$14.38	624 / hour	\$8,973.12		Y
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:			Supplier Product Supplier Notes: I	Code: Hourly Rate: 14.3	8	
Dennis Security and Professional Services, LLC	First Offer -	\$14.40	624 / hour	\$8,985.60		Υ
Product Code: Unit Amount Text: forteen dollars and forty of Total Amount Text: Eight thousand nine hun and sixty cents Agency Notes:		dollars	Supplier Product Supplier Notes: I	Code: Hourly Rate: 14.4	0	
Arrow Security	First Offer -	\$14.73	624 / hour	\$9,191.52	Υ	Υ
Arrow Security First Offer - \$14.73 Product Code: Unit Amount Text: Fourteen dollars and seventy three cents Total Amount Text: Nine thousand ninety one dollars and fifty two cents Agency Notes:			Supplier Product Supplier Notes: I		3	
United Protective Services	First Offer -	\$17.73	624 / hour	\$11,063.52		Υ
Product Code: Unit Amount Text: seventeen Dollars and Se Total Amount Text: Eleven thousand sixty th			Supplier Product Supplier Notes: I	Code: Hourly Rate: 17.7	3	

cents	
Agency Notes:	

B1305-14-NB01-02 Gardner-Betts Juv	enile Proba	tion Depar	ment				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Texas Star 1 USA	First Offe	er - \$12.75	2080 / hour	\$26,520.00	Υ	Υ	
Unit Amount Text: Twelve Dollars and seventy five cents Total Amount Text: Twenty six thousand five hundred and twenty dollars Agency Notes:			Supplier Product Code: Supplier Notes: Hourly Rate: 12.75 Drug Screens are done on all commission officers twice a year per protocol for Texas Star Security. Al backgrounds are checked prior to hiring process and again through DPS and FBI fingerprints.				
Marshal Security Office	First Offe	er - \$13.40	2080 / hour	\$27,872.00		Υ	
			Supplier Product Supplier Notes: I				
ALL PRO SECURITY SERVICES	First Offe	er - \$13.75	2080 / hour	\$28,600.00		Y	
Product Code: Unit Amount Text: thirteen dollars and sever Total Amount Text: twenty eight thousand si Agency Notes:	Supplier Product Supplier Notes: I	Hourly Rate: 13.7	5				
Ameritex Guard Services	First Offe	er - \$13.90	2080 / hour	\$28,912.00		Υ	
Product Code: Unit Amount Text: thirteen dollars ninety cer Total Amount Text: twenty eight thousand n dollars no cents Agency Notes:	ne hundred			Hourly Rate: 13.9	0		
PRO SECURITY GROUP INC [Ad]	First Offe	er - \$14.38	2080 / hour	\$29,910.40		Y	
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:			Supplier Product Supplier Notes: I	: Code: Hourly Rate: 14.3	8		
Dennis Security and Professional Services, LLC	First Offe	er - \$14.40	2080 / hour	\$29,952.00		Υ	
Product Code: Unit Amount Text: forteen dollars and forty of Total Amount Text: Twenty nine thousand nidollars Agency Notes:	ents	ifty two	Supplier Product Supplier Notes: I	: Code: Hourly Rate: 14.4	0		
Arrow Security	First Offe	er - \$14.73	2080 / hour	\$30,638.40		Υ	
Product Code: Unit Amount Text: Fourteen dollars and seventy three cents Total Amount Text: Thirty thousand six hundred thirt eight dollars and 40 cents Agency Notes:			Supplier Product Supplier Notes: I	: Code: Hourly Rate: 14.7	3		
United Protective Services	First Offe	er - \$17.73	2080 / hour	\$36,878.40		Υ	
Product Code:			Supplier Product				
				Hourly Rate: 17.7	3		

B1305-14-NB01-03 Domestic Relations Office										
Supplier	Ur	nit Price	Qty/Unit	Total Price	Attch.	Docs				
Texas Star 1 USA	First Offer -	\$12.75	2700 / hour	\$34,425.00	Y	Υ				
Product Code:	,		Supplier Product	Code:	,					
Unit Amount Text: Twelve Dollars and seven	ty five cents		Supplier Notes: I	Hourly Rate: 12.7	5					
Total Amount Text: Thirty four thousand four	r hundred and tv	venty	Drug Screens are done on all commission officers							
			twice a year per protocol for Texas Star Security. All							
Agency Notes:			backgrounds are c	hecked prior to hiri	ng proce	ess				
			I							

			and again through	DPS and FBI fingerprin	ts.	
Marshal Security Office	First Offer -	\$13.40	2700 / hour	\$36,180.00	Y	
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:			Supplier Product Code: Supplier Notes: Hourly Rate:			
ALL PRO SECURITY SERVICES	First Offer -	\$13.75	2700 / hour	\$37,125.00	Υ	
Product Code:			Supplier Product Supplier Notes: I	Code: Hourly Rate: 13.75	·	
Ameritex Guard Services	First Offer -	\$13.90	2700 / hour	\$37,530.00	Y	
Product Code: Unit Amount Text: thirteen dollars ninety centrotal Amount Text: thirty seven thousand five no cents Agency Notes:		y dollars	Supplier Product Supplier Notes: I	Code: Hourly Rate: 13.90		
PRO SECURITY GROUP INC [Ad]	First Offer -	\$14.38	2700 / hour	\$38,826.00	Y	
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:			Supplier Product Supplier Notes: I	Code: Hourly Rate: 14.38		
Dennis Security and Professional Services, LLC	First Offer -	\$14.40	2700 / hour	\$38,880.00	Y	
Product Code: Unit Amount Text: forteen dollars and forty control Total Amount Text: Thirty eight thousand eight dollars Agency Notes:		d eighty	Supplier Product Supplier Notes: I	Code: Hourly Rate: 14.40		
Arrow Security	First Offer -	\$14.73	2700 / hour	\$39,771.00	Y	
Product Code:			Supplier Product Supplier Notes: I	Code: Hourly Rate: 14.73		
United Protective Services	First Offer -	\$17.73	2700 / hour	\$47,871.00	Y	
Product Code: Unit Amount Text: seventeen Dollars and Seventy Three Cents Total Amount Text: Forty Seven Thousand eight hundred seventy one Dollars Agency Notes:			Supplier Product Supplier Notes: I	Code: Hourly Rate: 17.73		

B1305-14-NB01-04 Adult Probation, South Unit, McKinney Falls								
Supplier	Uı	nit Price	Qty/Unit	Total Price	Attch.	Docs		
Texas Star 1 USA	First Offer -	\$12.75	1560 / hour	\$19,890.00	Y	Υ		
Unit Amount Text: Twelve Dollars and seventy five cents Total Amount Text: nineteen thousand eight hundred and ninety dollars			Supplier Product Code: Supplier Notes: Hourly Rate: 12.75 Drug Screens are done on all commission officers twice a year per protocol for Texas Star Security. A					
Agency Notes:			backgrounds are checked prior to hiring process and again through DPS and FBI fingerprints.			ess		
Marshal Security Office	First Offer -	\$13.40	1560 / hour	\$20,904.00		Υ		
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:			Supplier Product Supplier Notes: I					
ALL PRO SECURITY SERVICES	First Offer -	\$13.75	1560 / hour	\$21,450.00		Υ		
Product Code:			Supplier Product Supplier Notes: I		5			

Agency Notes:					
Ameritex Guard Services	First Offer -	\$13.90	1560 / hour	\$21,684.00	Υ
Product Code: Unit Amount Text: thirteen dollars ninety cer Total Amount Text: twenty one thousand six dollars no cents Agency Notes:		four	Supplier Product Supplier Notes: I	: Code: Hourly Rate: 13.90	
PRO SECURITY GROUP INC [Ad]	First Offer -	\$14.38	1560 / hour	\$22,432.80	Y
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:			Supplier Product Supplier Notes: I	Code: Hourly Rate: 14.38	ĺ
Dennis Security and Professional Services, LLC	First Offer -	\$14.40	1560 / hour	\$22,464.00	Υ
Product Code: Unit Amount Text: forteen dollars and forty cents Total Amount Text: Twenty two thousand four hundred sixty four dollars Agency Notes:			Supplier Product Supplier Notes: I	: Code: Hourly Rate: 14.40	
Arrow Security	First Offer -	\$14.73	1560 / hour	\$22,978.80	Y
Product Code: Unit Amount Text: Fourteen dollars and seve Total Amount Text: Twenty two thousand nir dollars and eighty cents Agency Notes:				Code: Hourly Rate: 14.73	
United Protective Services	First Offer -	\$17.73	1560 / hour	\$27,658.80	Y
Product Code: Unit Amount Text: seventeen Dollars and Ser Total Amount Text: Twenty Seven Thousand eight dollars and eighty cents Agency Notes:			Supplier Product Supplier Notes: I	: Code: Hourly Rate: 17.73	

B1305-14-NB01-05 Pre-Trial Services Supplier	Unit Price		Total Price	Attch.	Docs
Texas Star 1 USA	First Offer - \$12.75	988 / hour	\$12,597.00	Y	Y
Texas Star 1 USA Product Code: Unit Amount Text: Twelve dollars and sevent Total Amount Text: Twelve thousand five huld dollars Agency Notes: Marshal Security Office Product Code: Unit Amount Text: Total Amount Text:	y five cents	Supplier Product Supplier Notes: I Drug Screens are of twice a year per probackgrounds are contacts.	Code: Hourly Rate: 12.7 done on all commis rotocol for Texas St hecked prior to hiri DPS and FBI finge \$13,239.20 Code:	5 sion officar Secur	cers rity. Al
Agency Notes: ALL PRO SECURITY SERVICES Product Code: Unit Amount Text: thirteen dollars and seven Total Amount Text: thirteen thousand five hu		988 / hour Supplier Product Supplier Notes: I	\$13,585.00 : Code: Hourly Rate: 13.7	5	Υ
Agency Notes: Ameritex Guard Services Product Code: Unit Amount Text: thirteen dollars ninety cer Total Amount Text: thirteen thousand seven dollars twenty cents Agency Notes:		988 / hour Supplier Product Supplier Notes: I	\$13,733.20 : Code: Hourly Rate: 13.9	0	Υ
PRO SECURITY GROUP INC [Ad] Product Code: Unit Amount Text: per hour Total Amount Text: annual	First Offer - \$14.38	988 / hour Supplier Product Supplier Notes: I	\$14,207.44 : Code: Hourly Rate: 14.3	8	Υ

Agency Notes:					
Dennis Security and Professional Services, LLC	First Offer -	\$14.40	988 / hour	\$14,227.20	Y
Product Code: Unit Amount Text: fourteen dollars and forty Total Amount Text: Fourteen thousand two h dollars and twenty cents Agency Notes:		seven	Supplier Product Supplier Notes: I	: Code: Hourly Rate: 14.40	'
Arrow Security	First Offer -	\$14.73	988 / hour	\$14,553.24	Υ
Product Code: Unit Amount Text: Fourteen dollars and seven Total Amount Text: Fourteen thousand five hand twenty four cents Agency Notes:	,	ee dollars		: Code: Hourly Rate: 14.73	
<u>United Protective Services</u>	First Offer -	\$17.73	988 / hour	\$17,517.24	Y
Product Code: Unit Amount Text: seventeen Dollars and Sex Total Amount Text: seventeen thousand five dollars and twenty four cents Agency Notes:	,		Supplier Product Supplier Notes: I	Code: Hourly Rate: 17.73	,

B1305-14-NB01-06 Pre-Trial Services	(Drug Diversion	on Court)	, Post Road			
Supplier	Ur	nit Price	Qty/Unit	Total Price	Attch.	Docs
Texas Star 1 USA	First Offer -	\$12.75	1092 / hour	\$13,923.00	Y	Υ
Product Code: Unit Amount Text: Twelve dollars and sevent Total Amount Text: Thirteen thousand nine h three dollars Agency Notes:		enty	Supplier Product Supplier Notes: I		5	
Marshal Security Office	First Offer -	\$13.40	1092 / hour	\$14,632.80		Υ
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:			Supplier Product Supplier Notes: I			
ALL PRO SECURITY SERVICES	First Offer -	\$13.75	1092 / hour	\$15,015.00		Υ
Product Code: Unit Amount Text: thirteen dollars and sever Total Amount Text: fifteen thousand fifteen c Agency Notes:	ity five cents dollars		Supplier Product Supplier Notes: I		5	
Ameritex Guard Services	First Offer -	\$13.90	1092 / hour	\$15,178.80		Υ
Product Code: Unit Amount Text: thirteen dollars ninety cer Total Amount Text: fifteen thousand one hur dollars eighty cents Agency Notes:		ght	Supplier Product Supplier Notes: H		0	
PRO SECURITY GROUP INC [Ad]	First Offer -	\$14.38	1092 / hour	\$15,702.96		Υ
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:			Supplier Product Supplier Notes: H		8	
Dennis Security and Professional Services, LLC	First Offer -	\$14.40	1092 / hour	\$15,724.80		Υ
Product Code: Unit Amount Text: Fourteen dollars and forty cents Total Amount Text: Fifteen thousand seven hundred twenty four dollars and eighty cents Agency Notes:			Supplier Product Supplier Notes: H		0	
Arrow Security	First Offer -	\$14.73	1092 / hour	\$16,085.16		Υ
Product Code: Unit Amount Text: Fourteen dollars and seve Total Amount Text: Sixteen thousand eighty cents		sixteen	Supplier Product Supplier Notes: H		3	

Agency Notes:							
United Protective Services		First Offer -	\$17.73	1092 / hour	\$19,361.16	Υ	Υ
			Supplier Product	Code:	70		
			Supplier Notes: I	Hourly Rate: 17.73	3		
Total Amount Text: nineteen thousand three	hu	ndred sixty or	ne				
dollars and sixteen cents							
Agency Notes:							

B1305-14-NB01-07 Travis County Expo Center								
Supplier		Uı	nit Price	Qty/Unit	Total Price	Attch.	Docs	
Texas Star 1 USA		First Offer -	\$12.75	3640 / hour	\$46,410.00	Y	Υ	
Product Code: Unit Amount Text: Twelve dollars and sevent Total Amount Text: Forty six thousand four h Agency Notes:			dollars	Supplier Product Code: Supplier Notes: Hourly Rate: 12.75				
Marshal Security Office	M	First Offer -	\$13.40	3640 / hour	\$48,776.00		Υ	
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:				Supplier Product Supplier Notes: I		'		
ALL PRO SECURITY SERVICES		First Offer -	\$13.75	3640 / hour	\$50,050.00		Υ	
Product Code:			Supplier Product Supplier Notes: I	Code: Hourly Rate: 13.7	5			
Ameritex Guard Services		First Offer -	\$13.90	3640 / hour	\$50,596.00		Υ	
Product Code: Unit Amount Text: thirteen dollars ninety cents Total Amount Text: fifty thousand five hundred ninety six dollars no cents Agency Notes:			Supplier Product Supplier Notes: I	Code: Hourly Rate: 13.9	0			
PRO SECURITY GROUP INC [Ad]		First Offer -	\$14.38	3640 / hour	\$52,343.20		Υ	
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:				Supplier Product Code: Supplier Notes: Hourly Rate: 14.38				
Dennis Security and Professional Services, LLC		First Offer -	\$14.40	3640 / hour	\$52,416.00		Υ	
Product Code: Unit Amount Text: Fourteen dollars and forty Total Amount Text: Fifty two thousand four h Agency Notes:			dollars	Supplier Product Supplier Notes: I	Code: Hourly Rate: 14.4	0		
Arrow Security		First Offer -	\$14.73	3640 / hour	\$53,617.20		Υ	
Product Code: Unit Amount Text: Fourteen dollars and seventy three cents Total Amount Text: Fifty three thousand six hundred seventeen dollars and twenty cents Agency Notes:			Supplier Product Supplier Notes: I	Code: Hourly Rate: 14.7	3			
United Protective Services		First Offer -	\$17.73	3640 / hour	\$64,537.20		Υ	
Product Code: Unit Amount Text: seventeen Dollars and Se Total Amount Text: sixty four thousand five I dollars and twenty cents Agency Notes:				Supplier Product Supplier Notes: I	Code: Hourly Rate: 17.7	3		

B1305-14-NB01-08 Overtime Rate per Hour									
Supplier	Unit Price	Attch.	Docs						
ALL PRO SECURITY SERVICES	First Offer - \$13.75	1 / hour	\$13.75		Υ				
Product Code: Unit Amount Text: thirteen dollars and seven		Supplier Product Supplier Notes: I	Code: Hourly Rate: 13.7	5					

Total Amount Text: thirteen dollars and sever Agency Notes:	nty five cents					
	First Offer	- \$17.54	1 / hour	\$17.54		Y
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:	'		Supplier Product Supplier Notes: I			
Texas Star 1 USA	First Offer	- \$19.13	1 / hour	\$19.13	Υ	Υ
Product Code: Unit Amount Text: Nineteen dollars and thirte Total Amount Text: nineteen dollars and thirte Agency Notes:			Supplier Product Supplier Notes: I	t Code: Hourly Rate: 19.13	3	
Ameritex Guard Services	First Offer	- \$20.85	1 / hour	\$20.85		Υ
Product Code: Unit Amount Text: twenty dollars eighty five of Total Amount Text: twenty dollars eighty five Agency Notes:			Supplier Product Supplier Notes: I	t Code: Hourly Rate: 20.85	5	
PRO SECURITY GROUP INC [Ad]	First Offer	- \$21.57	1 / hour	\$21.57		Υ
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:			Supplier Product Supplier Notes: I	t Code: Hourly Rate: 21.57	7	
Dennis Security and Professional Services, LLC	First Offer	- \$21.60	1 / hour	\$21.60		Υ
Product Code: Unit Amount Text: Twenty one dollars and six Total Amount Text: Twenty one dollars and si Agency Notes:			Supplier Product Supplier Notes: I	t Code: Hourly Rate: 21.60)	
Arrow Security	First Offer	- \$22.10	1 / hour	\$22.10		Υ
Product Code: Unit Amount Text: Twenty two dollars and ter Total Amount Text: Twenty two dollars and te Agency Notes:			Supplier Product Supplier Notes: I	t Code: Hourly Rate: 22.10)	
United Protective Services	First Offer	- \$26.60	1 / hour	\$26.60		Υ
Product Code: Unit Amount Text: twenty six dollars and sixt Total Amount Text: twenty six dollars and six Agency Notes:			Supplier Product Supplier Notes: I	i Code: Hourly Rate: 26.60)	

B1305-14-NB02-01 On-Site Un-armed	Se	curity Guard	Service	es: : Adult Probat	ion Mental Health	Unit	
Supplier		Uni	t Price	Qty/Unit	Total Price	Attch.	Docs
Ameritex Guard Services		First Offer - \$	\$11.22	2080 / hour	\$23,337.60		Υ
Product Code: Unit Amount Text: eleven dollars twenty two Total Amount Text: twenty three thousand the seven dollars sixty cents Agency Notes:			ty	Supplier Product Supplier Notes: I	Code: Hourly Rate: 11.2	2	
Texas Star 1 USA		First Offer - \$	\$12.14	2080 / hour	\$25,251.20	Υ	Υ
Product Code: Unit Amount Text: Twelve dollars and fourtee Total Amount Text: Twenty five thousand twe dollars and twenty cents Agency Notes:			ne	Supplier Product Supplier Notes: I	Code: Hourly Rate: 12.1	4	
Arrow Security		First Offer - \$	\$12.31	2080 / hour	\$25,604.80		Υ
Product Code: Unit Amount Text: Twelve dollars and thirty of Total Amount Text: Twenty five thousand six and eighty cents Agency Notes:			llars	Supplier Product Supplier Notes: I	Code: Hourly Rate: 12.3	1	
Marshal Security Office	P4	First Offer - \$	\$13.28	2080 / hour	\$27,622.40		Υ

Unit Amount Text: Total Amount Text: Agency Notes:			Supplier Product Supplier Notes: I					
Dennis Security and Professional Services, LLC	First Offer -	\$13.40	2080 / hour	\$27,872.00	Y			
Product Code: Unit Amount Text: Thirteen dollars and forty of Total Amount Text: Twenty seven thousand e seventy two dollars Agency Notes:		nd	Supplier Product Supplier Notes: I	: Code: Hourly Rate: 13.40	,			
ALL PRO SECURITY SERVICES	First Offer -	\$13.75	2080 / hour	\$28,600.00	Y			
Product Code: Unit Amount Text: thirteen dollars and seventy five cents Total Amount Text: twenty eight thousand six hundred Agency Notes:			Supplier Product Supplier Notes: I	: Code: Hourly Rate: 13.75				
PRO SECURITY GROUP INC [Ad]	First Offer -	\$13.88	2080 / hour	\$28,870.40	Y			
Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:			Supplier Product Supplier Notes: I	: Code: Hourly Rate: 13.88				
<u>United Protective Services</u>	First Offer -	\$15.39	2080 / hour	\$32,011.20	Y			
Product Code: Unit Amount Text: Fifteen dollars and thirty ni Total Amount Text: thirty two thousand elever cents Agency Notes:		wenty	Supplier Product Supplier Notes: I	: Code: Hourly Rate: 15.39				

Supplier	U	nit Price	Qty/Unit	Total Price	Attch.	Docs	
ALL PRO SECURITY SERVICES	First Offer -	\$13.75	1 / hour	\$13.75		Υ	
Product Code: Unit Amount Text: thirteen dollars and seven Total Amount Text: thirteen dollars and seve Agency Notes:			Supplier Produc Supplier Notes:	t Code: Hourly Rate: 13.7	5		
Marshal Security Office	First Offer -	\$16.75	1 / hour	\$16.75		Υ	
Product Code: Unit Amount Text: Total Amount Text: Agency Notes:	· · · · · · · · · · · · · · · · · · ·		Supplier Produc Supplier Notes:				
Ameritex Guard Services	First Offer -	\$16.83	1 / hour	\$16.83		Υ	
Product Code: Unit Amount Text: sixteen dollars eighty thre Total Amount Text: sixteen dollars eighty thr Agency Notes:			Supplier Produc Supplier Notes:	et Code: Hourly Rate: 16.8	3		
Texas Star 1 USA	First Offer -	\$18.21	1 / hour	\$18.21	Υ	Υ	
Unit Amount Text: Eighteen dollars and twen Total Amount Text: Eighteen dollars and twe			Supplier Produc Supplier Notes:	t Code: Hourly Rate: 18.2	1		
Product Code: Unit Amount Text: Eighteen dollars and twen Total Amount Text: Eighteen dollars and twe Agency Notes: Arrow Security		\$18.47			Rate: 13.75 \$16.75 Y Rate: \$16.83 Y Rate: 16.83 \$18.21 Y Y Rate: 18.21 \$18.47 Y Rate: 18.47 \$20.10 Y		
Unit Amount Text: Eighteen dollars and twen Total Amount Text: Eighteen dollars and twe Agency Notes:	First Offer -	\$18.47	Supplier Notes: 1 / hour Supplier Produc	Hourly Rate: 18.2		Υ	
Unit Amount Text: Eighteen dollars and twen Total Amount Text: Eighteen dollars and twe Agency Notes: Arrow Security Product Code: Unit Amount Text: Eighteen dollars and forty Total Amount Text: Eighteen dollars and forty	First Offer - seven cents y seven cents	,	Supplier Notes: 1 / hour Supplier Produc	\$18.47 St Code: Hourly Rate: 18.4		-	
Unit Amount Text: Eighteen dollars and twen Total Amount Text: Eighteen dollars and twe Agency Notes: Arrow Security Product Code: Unit Amount Text: Eighteen dollars and forty Total Amount Text: Eighteen dollars and forty Agency Notes:	First Offer - seven cents y seven cents y First Offer -	,	1 / hour Supplier Product Supplier Notes: 1 / hour Supplier Notes:	\$18.47 St Code: Hourly Rate: 18.4	7	-	

Product Code: Unit Amount Text: per hour Total Amount Text: annual Agency Notes:		Supplier Produc Supplier Notes:	t Code: Hourly Rate: 21.57			
<u>United Protective Services</u>	First Offer - \$23	09 1 / hour	\$23.09	Y		
Product Code:		Supplier Produc	upplier Product Code:			
Unit Amount Text: twenty three dollars and r	nine cents	Supplier Notes:	upplier Notes: Hourly Rate: 23.09			
Total Amount Text: twenty three dollars and						
Agency Notes:						

Supplier Totals

Texas Star 1 USA \$187,009.54 (10/10 items)

Bid Contact Kay Cole Address 2221 W. Arkansas #105 Pantego, TX 76013

texas.star.dfw@gmail.com Pantego, TX 76013
Ph 817-710-0305

Fax 817-548-0171

Qualifications CISV TX

Bid Notes No suncontracting will be used by TX STAR US, INC dba: Texas Star Security due to our

company as whole has a macehanic shop, a uniform shop, and alarm division and a traing

academy.

Agency Notes: Supplier Notes:

No suncontracting will be used by TX STAR US, INC dba: Texas Star Security due to our company as whole has a macehanic shop, a uniform shop, and alarm division and a

traing academy.

Marshal Security Office \$197,622.29 (10/10 items)

Bid Contact Akpaka Prince Address P.O. Box 1586

<u>admin@marshalso.com</u> Leander, TX 78641

Ph 512-528-1088

Bid Notes Paper bid submitted

Agency Notes: Supplier Notes: Paper bid submitted

Ameritex Guard Services \$199,682.88 (10/10 items)

Bid Contact Roxanne Hockenberry Address 100 N Central Expy

<u>roxannehockenberry@ameritexgs.com</u> Suite 350

Ph 972-231-6395 Richardson, TX 75080

Qualifications DBE HUB MBE NCTRCA TX WBE

Agency Notes: Supplier Notes:

ALL PRO SECURITY SERVICES \$203,032.50 (10/10 items)

Bid Contact martin jeakle Address 17356 W. 12 Mile

info@allprosecurityservices.com Southfield, MI 48076

Ph 866-493-6035

Agency Notes: Supplier Notes:

<u>Dennis Security and Professional Services, LLC</u> \$210,563.30 (10/10 items)

Bid Contact Anthony Dennis Address 2101 South I H 35, Suite 203

<u>adennis@dsaps.net</u>
Ph 512-916-4100
Austin, TX 78741

Fax 512-916-4102

Qualifications HUB

Agency Notes: Supplier Notes:

PRO SECURITY GROUP INC [Ad] \$211,309.46 (10/10 items)

Bid Contact DENISE NICHOLSON Address 100 N 6th 317

<u>denise@prosecuritygroup.com</u> WACO, TX 76701 Ph 254-753-7766

Qualifications HUB SB TX WBE

Agency Notes: Supplier Notes: (10/10 items) **Arrow Security** \$212,480.69 Bid Contact Lee Cox Address 520 E. Yeagua Groesbeck, TX 76642 <u>lcox@arrowsecurity.net</u> Ph 254-307-8838 Qualifications **Bid Notes** If the bid is awarded to Arrow Security, A Supervisor will be provided at no charge to the client. This supervisor will work 20 hours during the week roving from location to location, during both days and nights, ensuring the policies and procedures of the client are being enforced. This supervisor position will be in addition to the contract manager assigned for this contract. Agency Notes: Supplier Notes: If the bid is awarded to Arrow Security, A Supervisor will be provided at no charge to the client. This supervisor will work 20 hours during the week roving from location to location, during both days and nights, ensuring the policies and procedures of the client are being enforced. This supervisor position will be in addition to the contract manager assigned for this contract. **United Protective Services** \$256,948.21 (10/10 items) Bid Contact Phillip Adams Address 4408 Spicewood Springs Road phillip.adams@united-protective.com Austin, TX 78759 Ph 512-808-5745 **Agency Notes:** Supplier Notes:

* *